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Practice Work Sheet (M.C.Q)
1.What is the integer representation of walking 3km south?
A) Walking 3 km towards the north C) +3 km

B) -3 km D) +3
2.What is the opposite of a profit of Tk. 2507

A) + Tk. 250 C) + 250

B) A loss of Tk. 250 D) A gain of Tk. 250

3.Between which two integers does -6 lie?

A) -6and 6 C) -7 and-10

B) 7and 5 D) -7 and-5

4.What is the positive of a negative integer?

A) Negative C) Zero

B) Positive D) Neither positive nor negative.

5.Which of the following statements is true?
A) -8 is larger than 16. C) 8 is larger than-16.

B) 16 is smaller than 8. D) +16 is smaller than-8.

6.1dentify the false statement.



A) -317 < 603 C) 637 > 246

B) -777 <-919 D) 1027 > -688
7.Which of the following lists gives 5 negative integers greater than -9?

A) -6, -8, -2, -5, -4 C)1,23,4,5
B) -6, -7, -8, 1, 2 D)8, 7,6,5,4

8.Which is the largest of the integers -3, -10, -236, -15?

A) -15 C) -10
B) -3 D) -23

9.The loss of a shopkeeper on selling rice is Tk. 48 and the loss on selling sugar
Is TK. 57. How is the total loss represented in integer form?

A) Tk.105 C) -Tk.9
B) Tk.9 D) -Tk.105

10.To which side of 0 on a horizontal number line are the negative integers
located?

A) Right C) Above
B) Left D) Below

11.The additive inverse of -2 is
A.-2 C.3
B. +2 D. None of these

12.The integer which is more than 5



C.2

13.What is the set of negative
number and whole numbers called?

A.The set of natural numbers
B.The set of integers

14.Which of the following is the
greatest negative integer?

A.-100
B. Does not exist

15.Which number is neither positive
nor negative?

Al

B.5

16.Which of the following lists gives
5 negative integers greater than -9?
A.-6,-8,-2,-5,-4

B.-6,-7,-8,1,2

17.Pick the smallest of the integers -
8,

-800, 8, 800 and -808
A.-8
B.-800

18. What is the additive inverse of (-
48)

A.-48
B.48

19.What is the number of negative
integers between -11vand 11

A.10

D.5

C.The set of positive number

D.The set of negative number

C.-1
D.-9

C.0
D.10

C.1,234,5,
D.8,7,6,5,4

C.800
D.-808

C.0
D.1

B.11



C.0

20. Find the number of integers
between 0 and 6

A8
B.6

D.22

C.15
D.5









